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70 HGR:HCOLOR=7

120 P=P+ 1 #3E, LRNEAH

130 INPUT N, J, I MESAMANMEBEHE LA, Hm. Bif

260 M(P)=70—DsSIN(N):N(P)=70+D*COS(N) : HPLOTM(P), N(P) R# &5

RHIZAHEALIRERA
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B A% RS, FAMMEEEGEREENZBEI/HENEE. RO ER EHESTR
b, et B ARG A &R R AR, BB TENR.

AO,0MYTFXA); AT,0MHETFX(2); «-pm(140,0) Y TX(21);

AO,DMAYTFX(22)s AT, DHEYTFX(23); +(140,140)H25 FX(441),

St BF XL

320 FOR I=0 TO 140 STEP 7 LII4Y%h

340 FOR J=0 TO 140 STEP 7 LAJ kX%

350 FOR K=1 TO 100 K& &

360 IF M(X)>J-TAND M(K)<J+7 AND (NK)>1-7 AND N(K)<I+ 7
THEN S=S+ 1

370 NEXT K

350~370: 100 EAPEIANAEFEET—7, J+7, 1-7, [+7X—XRH,

380 E=E+1:X(E)=S:S=0$%iZRRBRTXEH A

390 NEXT J:NEXT I

mxtRERHGLZE T2 RKHEREERFHRAD LB LT 2R, SERKE EHFH R
St T— R RMEEE RE,

AN A AX(36), BREYTAIX(406), HAMHEBAZARIMEA B (LE3), W
FIBR BRI . #Ah:

420 X (36) =INT(((X(36)+ X (406))/1.125): X (406) = X (36)

=, SHEERNLH:

FEGH THREMET? x 7T L&D ABNRAEE, RERZENEEBTRESYHARAZRA
B BB R, FGFEABRAE-ERER TEFRHEH . LTHEHBAW (X,
VFEHRX D), MZEFANERRTEHEN ALK EHRALK, MELE ST iZARHRIR
X, Y),

WA NERIF A

810 FOR Y=0 TO 7

820 FOR X=0 TO 133 STEP 7

830 IF WX,Y)=WX+7,Y) GOTO 880

840 Al1=ABS(W(X,Y)—W(X+7,Y)):A2=INT(A1/7*100+0.5)/100

850 IF W(X,Y)>W(X+7,Y) GOTO 870

860 FOR I=1 TO 6:W(X+I,Y)=W(X,Y) + A2+[:NEXT [:GOTO 890

870 FOR I=1 TO 6:W(X+7-1,Y) =W(X+7, Y)+ A2+I:NEXT I1:GOTO
890

880 FOR I=1 TO 6:W(X+I,Y)=W(X,Y):NEXT I

890 NEXT X:NEXT Y

XAEBXFRZEITABHERF, KR ERBEXHR RYHRZE Hth ZE kEBR,

WRERAZERANEZRIT RN INERERFERHELH. B40% B3 NER &85 K
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720~800: AT RZENEYHRAE.
810~890: A R Z X7 [N,

UNITR B SO R R SR S &

900~980, 1130~1180: AXRTHMEAMEFENER.

1030~1070; b HZRKEUAREEHBEEIFBRARFGLEHEN,
1080~1110: FFLAGIFHEHEEDBREXHFARSE, AEHRFR.
1190~1240. AAHABEEXHRITENEEHERRF.

& F X &R
C1) faIfEBk, 1965, RFER/FBEEMRBFIOEA, BFEHRE.
C2) fI4ARN, 1979, MEHBAFROFFRM R, MWRBRT.
(3) HKE¥S, 1983, BASICEIEFE, MERFEHRL,
(4] Loudon,T.V.,1979,Computer Mecthods in Geology.
BERER
10 REM DATA PROCESSING OF PETROFABRIC DIAGRAM
20 LOMEM:16384: DIM X(441), W(140,7), M(100), N(100)
30 PRINT “DO YOU WANT TO RETRIEVE THE TEXT FILE TO DRAW A DIAG-
RAM? (ANS.Y OR N)”: INPUT G$
40 IF G$ =“Y” GOTO 500
50 PRINT “DO YOU WANT TO RETRIEVE THE GRAPHIC FILE? (ANS. Y OR N)”:
INPUT G$
60 IF G$ =“Y” GOTO 1190
70 HGR:HCOLOR=7:R=70:G=3.14159/180
80 FOR TH=0 TO 360: RH=TH+G:! X=70+R+COS (RH): Y=70-R *SIN (RH):
HPLOT X, Y: NEXT
90 HPLOT 68, 144 TO 70, 142 TO 70, 147
100 VTAB 22
110 INPUT “DETERMINATION NUMBER="; M
120 P=P+1
130 INPUT “BEARING ="; NIINPUT “DIP ANGLE =", J : INPUT “I=(E=1, W=2,
$=3, N=4)"; I
132 IF N>>360 OR N<O OR ]>90 OR J<O OR I4> OR I<O GOTO 1250
140 IF I=1 GOTO 180
180 IF I=2 GOTO 180
160 IF I=3 GOTO 200
170 IF I=4 GOTO 210
180 N=450-N:GOTO 220
190 N=630-N:GOTO 220
200 N=3860-N:GOTO 240
210 N=540-N:GOTO 240
220 J=(90-]) G
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230 GOTO 250

240 J=J»G

250 D=2+ R/SQR(2) +SIN(J/2):N=N»*G

260 M(P) =70-D = SIN(N):N(P) =70+ D * COS(N) :HPLOT M(P), N(P)

270 IF P=M GOTO 282

280 GOTO 120

282 PPINT“ + REVISE » ;:PRESS HCOLOR =0:GOTO ]30:PRESS WRONG DATA THEN:
HCOLOR =7:GOTO0130:PRESS CORRFCT DATA. AT LAST PRESS‘CONT’”

284 STOP

290 PRINT“DO YOU WANT TO PRINT THE DIAGRAM? (ANS. Y OR N)”

300 INPUT A$

310 IF A$ 5“N"GOTO 330

320 RR 1:PRINT:PRINT TAB(8)“POINT-GROUP DIAGRAM”: POKE 1913, 65: PRINT
CHRS$ (17)

322 PRINT TAB(10);“ss WAIT PLEASEss”

325 E=0:S=0

330 FOR I=0 TO 140 STEP 7

340 FOR J=0 TO 140 STEP 7

350 FOR K=1 TO 100

360 IF M(K)> J—-7 AND M(K)<J+7 AND N(K)»J-7 AND N(K) <I+7 THEN S=S+1

370 NEXT K

380 E=E+1:X(E)=5:S=0

380 NEXT J:NEXT I

400 X (11) =X(11) + X (431):X (431) = X (11): X (12) = X (12) + X (430) : X (430) = X (12)
$X(13) =X (13) + (429): X (429) = X (13):X (10) = X (10) + X (432) X :X (432) = XX
(10):X (9) = X (9) + X (433) 1 X (433) = X (9)

410 X (413) =X (413) + X (8) !X (8) =X (413) :X (A7) =X 14+ X (407) : X(1H =X
(407) 1 X (35) = X (428) + X (35): X (482) = X (35) :X (29) = X (29) + X (434) : X (434)
=X (29):X (28) = INT((X (28) + X (414))/1.125) : X (414) = X (28)

420 X (36) =INT((X (36) + X (406))/1.125): X (406) = X (36):X (231) = X (231) + X (211):
X (211) = X (231) : X (190) = X (190) + X (252): X (252) = X (190): X (1.69) = X (169) +
X (273):1X (273) = X (169) : X (210) = X (210) + X (232)

430 X (232) = X (210):X (189) = X (189) + X (253) : X (253) = X (189) : X (275) = X (275) +
X (168):X (168) = X (275): X (149) = X (149) + X (294) : X (294) = X (149) : X (293)
= X (293) + X (148) : X (148) = X (293)

440 X (167) = X (167) + X (274) : X (274) = X (167) : X (296) =INT((X (296) + X (146))/
1.125) 1 X (146) = X (296) : X (128) =INT((X (128) -+ X (314))/1.1: X (314) = X (128):
X (48) =INT ((X (48) + X (394))/1.625) : X (394) = X (48)

450 X (58) =INT((X (58) + X (384))/1.625) : X (384):= X (58): X (59) = X (59) + X (383):

X (383) =X (59) Z)_{(Aﬂ) =X @7+ X(395) : X(395) =X (47) : X(87) =X (6T)+ X
(375) : X (375) = X (67)
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460 X (87) =X (87) + X (355) :X(355) =X (87) : X (81) =X (81)+ X (361) :X(3861)=X
(81) :X (103) = X (103) + X (339) :X(339) =X (103) :X(68) =X (68) + X(396) :X
(396) = X (68) : X (80) = X (80) + X (382): X (382) = X (80)

470 X (102) =X (102) + X (360) : X (360) = X (102): X (124) = X (124) + X (338): X (338) =
X (124) $X (88) =X (88) + X (376) :X(376) =X (88):X (108) =X (108) + X (356) :X
(356) = X (108) : X (374) = X (374) + X (46)

480 X (46) =X (374):X (362) =X (362) + X (60) : X (60) = X (362) :X (354) =X (354) + X
(66) : X (66) = X (354) : X (340) = X (340) + X (82) : X (82) = X (340) : X (334) = X (334)
+ X (86): X (86) = X (334): X (318) =X (818) + X (104): X (104) = X (318)

490 FOR I=1 TO 441:PRINT“ ”;X(I);:NEXT:PR O:PRINT

500 PRINT“DO YOU WANT TO SET UP A TEXT FILE? (ANS. Y OR N)”

510 INPUT A$:D$ =CHRS (4)

520 IF A$ =“N"GOTO 570

530 INPUT“WHAT'S THE FILE$S NAME? °;N$

540 PRINT D$;“MON C,0” ;PRINT D$;“OPEN”;N$ :PRINT D$ ;“WRITE";N §

550 FOR I=1 TO 441:PRINT X(I):NEXT

560 PRINT D$ ; “CLOSE”";N$
570 PRINT“DO YOU WANT TO RETRIEVE THE TEXT FILE{(ANS. Y OR N)?

580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800

INPUT B$:D$ =CHRS$ (4)

IF B$ =“N"GOTO 650

INPUT“NAME OF THE TEXT FILE?";Z$

PRINT D $;“MON C,I1,0”

PRINT D$; “OPEN";Z$ :PRINT D$;“READ";Z2$

FOR I=1 TO 441:INPUT X(I):NEXT

PRINT D$ ;“CLOSE”;Zz $

HGRIHCOLOR =7

FOR Q=0 TO 19

FOR Y=0 TO 7 STEP 7

FOR X=0 TO 140 STEP 7

A=A+ 1:W(X,Y) =X(A)

PRINT“ ”;X(A);

NEXT X:NEXT Y

FOR X =0 TO 140 STEP 7

Y=0

IF W(X,Y) =W(X,Y +7)GOTO 790

Al1=ABS(W(X,Y) -W(X,Y+7)):A2=INT(A1/7 + 100+ 0.5) /100
IF W(X,Y)»W(X,Y +7)GOTO 780

FOR I=1 TO 6:W(X,Y+I) =W(X,Y)+I+ A2:NEXT I:GOTO 800
FOR I=1TO 6:W(X,Y+7-1) =W(X,Y+7) +1+A2:NEXT I:GOTO 800
FOR I=1 TO 6:W(X,Y+1I) =W(X,Y) :NEXT I

NEXT X
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810 FOR Y=0 TO 7

820 FOR X =0 TO 133 STEP 7

830 IF W(X,Y) =W(X+7,Y)GOTO 880

840 Al1=ABS(W(X,Y)-W(X+7,Y)):A2=INT(A1/7 » 100+ 0.5)/100

850 IF W(X,Y)>W(X+7,Y)GOTO 870

860 FOR I=1 TO 6:W(X+1,Y) =W(X,Y) + A2 + I:NEXT I:GOTO 890

870 FOR I=1 TO 6:W(X+7-1,Y) =W(X+7,Y)+A2+I:NEXT I.GOTO 890

880 FOR I=1 TO 6:W(X+1,Y) =W(X,Y):NEXT I

890 NEXT X:NEXT Y

900 VTAB 24:HTAB 14:INPUT“N(MAX DATA) =";N

910 IF Q<19 GOTO 980

920 FOR Y =0 TO 7:FOR X=0 TO 140:FOR I=1 TC N STEP 2

930 IF W(X,Y)<I+0.2 AND W(X,Y)>I-0,2 GOTO 950

940 GOTO 980

950 HPLOT X+10,Y+10+Q=*7

960 NEXT I:NEXT X:NEXT Y

970 GOTO 990

980 GOSUB 1130

990 B=Q+1

1000 IF B=20 GOTO 1030

1010 A=B=*21

1020 NEXT Q

1030 G=3.14159/180:R =70:HCOLOR =0

1040 FOR C=270 TO 450:V=C+G:X=804+R*COS(V):Y=80~R+* SIN(V):HPLOT X,
Y TO X+ 14,Y:NEXT

1050 FOR C=90 TO 270:V=C+G:X =80+ R +COS(V):¥ =80-R * SIN(V) :HPLOT X, Y
TO 0,Y:NEXT

1060 HCOLOR=7:FOR C=0 TO 360 STEP 0.5:V=C + G:HPLOT 80+ R *COS(V), 80-R
» SIN(V) :NEXT

1070 HPLOT 78, 154 TO 80, 152 TO 80, 157

1080 PRINT“DO YOU WANT TO SET UP A GRAPHIC FILE7(ANS.Y OR N)”: INPUT
G$:D$ =CHRS$ (2)

1090 IF G$ =“N"GOTO 1120

1100 INPUT“WHAT‘S THE GRAPHIC FILE’S NAME?";G$

1110 PRINT D% ;“BSAVE";G$;”, A8192, L8191

1120 END

11830 FOR Y =0 TO 6:FOR X=0 TO 140:FOR I=1 TO N STEP 2

1140 IF W(X,Y)<I+0.2 AND W(X,Y)>I-0.2 GOTO 1160

1150 GOTO 1170

1160 HPLOT X+10,Y+10+Q+*7

1170

NEXT I:NEXT XINEXT Y
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1180 RETURN

1190 INPUT“THE GRAPHIC FILE’S NAME?”;G$

1200 HGR:HCOLOR =7:HOME

1210 DX =CHR$ (4):PRINT D$,;“BLOAD”;G$

1220 POKE ~ 16297,0:POKE - 16300, 0:POKE - 16302, 0:POKE = 16304, 0

1230 POKE - 16301,0:VTAB 21

1240 PR 1:PRINT:PRINT TAB(10)“PETROFABRIC DIAGRAM" :POKE 1913,85:PRINT
CHR$ (17)

1244 END

1250 COTOC 130

1300 NM =X(1)

1310 FOR I=2 TO 441

1320 IF NM> = X(I)GOTO 1340

1330 NM =X(I)

1840 NEXT I

1350 PRINT“N(MAX DATA) =";NM:N=NM

EZRARIEFILBRS B3 RE R LE 490 450 GOTO 1300 7£ 1350 /5 fn: GOTO
500345900 a) FE B AT o



